TNPSC
Qurgis sblugd Gurg gidled (GR2ZAT 17)

1.  Projectile motion is a combination of horizontal motion with constant and
vertical motion with constant (GR2AT 17)
(A) Acceleration, velocity

(B) Velocity, acceleration
(C) Displacement, velocity
(D) Velocity, displacement

TMIQUITIHET @UIGHELD 6T60TLIS! LDMMTS Q&MeoTL. HemL 0L L @Ul&s&L10
MOID LDTMTS Q&ML QEFMIGSS QUEHSEHID HWeIMMI6T &evenal
G LD.

(A) (B &5, HeansFCeauss LD
(B) ®em& Coussld, (n(H1& 5D
(O @LUQUWTEFR, HenaGeausksLn
(D) ®em&Gausid, @LLUIQUWTFS

2. Nuclear force is (GR2AT 17)
(A) charge dependent
(B) spin independent
(C) both charge and spin independent
(D) spin dependent but charge independent
|GG [H 660 &F W TEOTS)
(A) Nt L &6 FMTHS6TenS!
(B) spm&lenw FriHEIIS
(C) WeTenmrl L b Lnmmild &pm&Penwl FMFHH T
(D) &LomFlemwl FTTHSI6TNS L,60TMeV WO6TTeTL L LD FMTHSH TTS

3. The area of a semi-circle of radius 7 c.m. isS(GR2AT 17)

(A) 7 cm? (B) 777 cm? (C) 77 cm2 (D) 7777 em?
7 Q&F.10. QLTLD 2 6TeT 6MT eUL_ L &H 60T LIFLIL
(A)7Q&.18.2 (B) 777 Q&.165.2 (©) 77 QF.18.2 (D) 7777 Q&.18.2

4. The oxidation of SO3~ to SOZ~ ion by oxygen (GR2AT 17)
S0%™ +:0) — S0Z~ in this reaction which is Lewis acid and Lewis base?
A)S 0§:is Lewis acid and oxygen is Lewis base
(B) Oxygen is Lewis acid and S0% is Lewis base
(C) Both are Lewis acids
(D) Both are Lewis bases
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WEFRmers:  Qsma®h S0~ WS S02T  SEHEHAKCarHmI  QFUIWD
FLpsmeid aflemeoruiley SO§‘+.'_€_j—> 502~ etgl swrudlev yfleunEayLh 61gl sumuilery
SMITHD QFWLBGHRMmS?

(A) S0%~ symullev sidlevid MMILD Sy, 8T 60T suuilely &ITyLh

(B) &u,551 2601 suruilenv 9dlevld WmmId SO5~ swruilenv &L

(C) @pevor(H b svruilerv oyLdleumbiss 6T

(D) @pevor(hLh surulleny &IT iy M6l & 6T

5. Cyanide resistant respiration is found in(GR2AT 17)
(A) Plants only
(B) Animals only
(C) Both plants and animals
(D) Plants and Microbes
FUMTRH56060 FuemeTl. THTLILSH M6 @eummlev Smeoor LGS mS!
(A) smeugmissefley WL (LD
(B) ellevmi@serflev L (HILD
(C) smaurmIGeT InmmMIh eflevniE s erfley
(D) smeugmigseT Wwmmild Hievoresnluflif &erflev

6. Male sex hormone ‘testosterone’ is produced by(GR2AT 17)
(A) Leydig cells
(B) Sertoli cells
(C) Germinal epithelial cells
(D) Spermatogonial cells
21,600 LIMedleoT @mmIGLOMedT “QLenGLmevie@rmeneT” 2 MUSSH Q& el
(A) Qeulllg.8 QF&6T
(B) QFFGL M6V QF6V&H6T
(C) grilersy eTLNGeSWeL QF6L&6T
(D) 6v@QUIQLLCL TGSl C1&F 6V &6

7. Which one of the following is correctly matched? (GR2AT 17)

I. Gregor Mendel - Neurospora

II. T.H. Morgan - Drosophila

III. C.B. Bridges - Garden pea

IV. J.H. Muller - Mice

(A1 (B) II (C) 11 (D) IV
BLD& &0 eUMMIET 678l FflWmssL QUTIHHS 2_6Tems?

I. fl&my Qe - BIW G mervGUITFT

II. T.H. 0mi &8 607 - K CrmeasmLileveurr
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II1. C.B. L9860 - Ga ML L Lium
IV. J.H. wpeveury - 6169 & 6T
(AT (B) I1 (C) I (D) IV

8. Tax is charged on some items which are manufactured in the country. This is
collected by the Government of India. ‘This Tax is(GR2AT 17)
(A) Direct Tax (B) Indirect Tax
(C) Excise Duty (D) Service Tax
B BILQ 2 HUSH QEWWlIUGSHeTm QuUmmeTseT Feveummlerr W& eurfl
NG ESELILGROTDS. @S MW T&5HEGEF QFLROTME. 3iHS aulf]
(A) GBIWss urfl (B) memvmpss 6urfl
(C) ssevmev surfl (D) Ggemeu eurfl

x% —2x 3x+6

9. Thevalue ofx2+ = X 3 (GR2AT 17)
(A) 3x (B)3 (C)3x+2 (D) x-2
x% —2x 3x+6 . .
x2+ 2x x x—2 oo LD@ULI
(A) 3x (B)3 (C)3x+2 (D)x-2

10. A boy is now twice as old as his sister, four years ago, he was thrice as old as her
what are their ages now? (GR2AT 17)
(A) 18,9 (B) 14,7 (C) 16,8 (D) 12,6
@ emLIWeofledr SMBLIMMGSI QWG S6l6Tdl SHlensWIeT allleng Ll GLITeL @)
IDLMBI&, 4 S600T(HNSHEHSHEG (LNEITL| D 6U6TS UG |6U60T HhIen&HUN6T aUllemSL
GLIM6V eLNEITMI LOL_TBI@G 6T60fl6v, S QUTE6TEH HMELITNS U 61U S 6T60T60T?
(A) 18,9 (B) 14,7 (C) 16,8 (D) 12,6

11. x3/2:9 =16 :+/x. What is the value of x? (GR2AT 17)

(A)+16 (B)+3 C)*4 (D) t12
x3/2:9 =16 : /x. 616060 X 60T LOG)LIL| 6T6OT6OT?
(A)+16 (B)£3 C) x4 (D)+12

12. Total surface area of hollow hemisphere is equal to(GR2AT 17)

(A) 2m (R2 + r2) sq. units (B) 2n (R2 - r2) sq. units

(O) © (3R2 + r2) sq. units (D) ® (3R2 - r2) sq. units

2 aTefLmm Sjenrd CHMeTSH 6T QMS LI LimUiurgLliL] =

(A) 27 (R2 + 1r2) &. 9|60 G 6T (B) 27 (R2 - r2) &. 9|60 &G SH6IT
(C) m (3R2 +12) &F. 96L& S6T (D) ® (3R2-12) &F. 960G S6T
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13. The probability that a leap year will have 53 Fridays or 53 Saturdays is(GR2AT 17)
1 2 3 4
(A) - (B) > ©; (D) -
@M 65U aBLSFHO 53 QealaTeflEHPpenns:eT 6VeVgl 53 &F6oflHELpemInG 6T
QUHEUS MG ITET B &HLD G G6)| &T600TS.

OF OE ©2 (D)2

14. Factorization of (x + y)2 + 9 (x + y) + 8 is(GR2AT 17)

A x+y+1)(x+y) B)(x+y+1D)(x+y+8)
O x+y+1)(x+y+6) M) (x+y+8) (x+y+2)
(x+y)2+9(x+y)+ 8-61 &Myevvflsar

A x+y+1)(x+y) B)(x+y+1)(x+y+8)
O x+y+1)(x+y+6) M) (x+y+8) (x+y+2)

15. What is the difference between the sum of first ‘n’ odd natural numbers and that of
first ‘n’ natural numbers? (GR2AT 17)

A) Z+1 (B) =

n(n+1) n(n+1) 2n+1)
(0 "= (D) HEEEED

WL N’ RMHENM G@UIEV 6TeoT&H6M 6T Fan(hSHNEHGID (P&H6L ‘N’ @UI6L 6TevorSs6rfl60T
Fo(hSNGHGD 2 6Tem NlGHEHWIMTEFLD 6T6OT60T?

(A) Z+1 (B)

n(n-1)

n(n-1)
2

n(n+1) n(n+1) 2n+1)
2 (D) 6

©
16. Which of the following is arranged in correct ascending order? (GR2AT 17)

(A) 25% of 8, 40% of 6, 30% of 9, 20% of 15

(B) 20% of 15, 25% of 8, 30% of 9, 40% of 6

(C) 30% of 9, 40% of 6, 25% of 8, 20% of 15

(D) 20% of 15, 30% of 9, 40% of 6, 25% of 8

L edTeu(peusTeummieT gl Fiflwimenr gmieuflenguiley oienLnbSl6Ten?

(A) 8-6v 25%, 6-60 40%, 9-6L 30%, 15-6V 20%

(B) 15-6v 20%, 8-60 25%, 9-60 30%, 6-6V 40%

(C) 9-6v 30%, 6-6V 40%, 8-6v 25%, 15-60 20%

(D) 15-6v 20%, 9-6v 30%, 6-6V 40%, 8-6v 25%
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17. Which of the following is larger in area? (GR2AT 17)
(A) A triangle with base 10 cm and height 8 cm
(B) A triangle with sides 12 cm, 5 cm and 13 ¢cm
(C) An equilateral triangle whose sides are 10 cm each
(D) A right angled triangle whose sides containing the right angle are 3 cm and 4 cm
L9l edTeu [HeueoTeu HmI6T LFLiLiemelley Quiflugl ergi?
(A) 99 ILU& S0 10 QF.18. IDMHMID 2 WD 8 Q&F.10. Q& mevorL (LN &G & MeuoT LD
(B)12 Q&.109., 5 Q&F.18. oMo 13 Q&F.15. LISSHBIGHET 2_6TeT (LN& G T6rorLd
(C) 10 Q&F.18. LGS 2 6T6T FLIOLGSE (LNECETE0TLD
(D)QFBIGSH TS 2 6TaTLER W LIGSMISGAT 3 Q&0 InMHmID 4 Q&F.10. 2 616
LN &G MeuoT LD.

18. The arithmetic mean of a group of 75 observations was calculated as 27. It was later
found that one observation was wrongly read as 43 instead of the correct value 53.
Obtain the correct arithmetic mean of the data. (GR2AT 17)

(A) 26.13 (B) 27.13 (C) 28.13 (D) 25.13

75 6TE00TSH6M6ITS Q&MTetoTL 6(H QS TGH Wletr Frmaifl 27 eT6or8 &evorsS L LILL LS.
LN6OTL], 53 6TedTM 6I600T SUMIGTH 43 eTeorm UIQHSIULLGE  Lledteory
ST SGEHUILULLG.  eTerCal, AHQAHT&GHUler &Fiflwmer  Fymsiflenuls
&ITE00TEYLD.

(A) 26.13 (B) 27.13 (C) 28.13 (D) 25.13

19. A sum of money triples itself at 8% per annum over certain time. The number of
years is equal to(GR2AT 17)
(A) 24 (B) 25 (C) 20 (D) 12
THH6060T ,600T(H&6T (WPIalléh e GSMILULILL Feumersl 8% el ly efss5H 60
PLOGOTMI LOL_MBIS TG LD.
(A) 24 (B) 25 (C) 20 (D) 12

20. Match the following: (GR2AT 17)

(a) Annie Besant - 1. Kesari

(b) Bipin Chandrapal - 2. Common weal
(c) Boopendra Nath Dutt - 3. The New Asia
(d) Tilak - 4. Yuganthar
QUMBHSH S &.

(a) oy6tTe0flQLIGEOTL. 1. Cx&

(b) YIYetT EHHTLIME 2. ST af6v
(0) WBUBBT BH && - 3. Blw, & wim
(d) Pevss 4. WSTHST
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A) 3 4 1 2
(B) 2 1 4 3
©) 4 3 1 2
(D) 2 3 4 1

21. Before E.V. Ramaswamy Vaikom Satyagraha was first started by three leaders.
They were(GR2AT 17)
(A) T. Prakasam, T.K. Madhavan and K.P. Kesava Menon
(B) T.K. Madhavan, K.P. Kesava Menon and George Joseph
(C) George Joseph, T. Prakasam and T.K. Madhavan
(D) K.P. Kesava Menon, T. Prakasam and George Joseph
F.Qeu.pmwaFmll&EE (6T, al&HEED FEFHUTHTIHSMS QSTLHBISW N6t
ST HET 3|6UTS6T TS
(A) ®. Ypsneb, 5).65%..0m&HeueT WM C5.19. @& & 6u GLD6oTeoT
(B) ®.Cs. Inms 66T, G5.L9. GFH 56U GLD6uT60T LDMHMILD 3Hey Cma Ll
(O) g2mrsyy Gurell, H. LNgsme mmibh §).68. 0TS 66T
(D) G&.19. Gx:a6u GLneuredT, H). LNJ&MTEELD DMHMILD QTT CMELl

22, Who was called “The Father of Modern India”? (GR2AT 17)

(A) Ambedhkar (B) ‘Periyar’ E.V.R.

(C) Gandhiji (D) Rajaram Mohan Roy
“meferr @BHH WM HHend” eTedTMemLPSSLILIHILIGIT WITF?

(A) DCUS ST (B) Quiflumy F.Qeu.r.

(OF: 31k (D) @umegmymid GLomEs 60T [Fmul

23. Tambapanni is the old name of(GR2AT 17)

(A) Tamil Nadu (B) Kerala (C) Srilanka (D) Karnataka
SLDL0LImeoot] eTel el L& B 60T LiemLpoul QILIWIT?
(A) BTG (B) Gaserm (C) Wevmigsm (D) &spmBIL&sT

24. Name the journal which declared ‘Swami Vivekanand the greatest figure in the

Parliament(GR2AT 17)

(A) Young India (B) Samachar Darpan

(C) Swadeshi Mitran (D) New York Herald
“UMITEBLETMSH 6T Hemev FMBES BUT aNCausmerbsT” ererm GmiLiLNl L
LSS flemnaulledr QLT

(A) wi @BHwIT (B) Flom&F T &Iy LI6oT

(C) &xG5& WG redr (D) Blw,wmys QemymeuL.
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25. Cultivable lands which has not been ploughed for between one and five years are

called as(GR2AT 17)
(A) Culturable waste (B) Current fallows
(C) Other fallows (D) Permanent fallows

LWL G8alqUl BleLHISGET 6ReTm (NSH6V BHH 60T(HHET eUem 2 LUILIL TS
QUIMWE!, & @6UelTm SeMNESLILGSR M.

(A) uweturLmm ellemerTmlevn (B) mL_Liumevor(® &ifler

(©) Y sils (D) mlemevwimest GLOUIF&F6V Blevld

26. Tidal forests of Ganga — Brahmaputra delta, mainly consists of (GR2AT 17)

(A) Rhododentons (B) Hardwood palms

(C) Laurels (D) Junipers

SHIM&E - NTDLUSHTT SemeulnssH sThseflev (N&ESHWINME &meoor U (GILD
LD [T 6 6 85 W 60T

(A) QmGLMQLeTL_GIFmedrery (B) &19.60T LI6mEOT 6U6M S

(C) surrgeveiv (D) glesfliuy

27. Which is wrongly matched? (GR2AT 17)

(A) Indo-European Family - Arya
(B) Austric Family - Nishada
(C) Dravidian Family - Dravidian
(D) Sino-Tibetan Family - Munda
SHEUMITET QLTSS SN S 8 6vor(H LI19.&H 860 ?
A) @b w sermuilu @ WU - QLW
(B) @u6v19.1f16 @@ LOLILD - BIFTLIT
(©) @rmaiL G® UL - S rmelLm
(D) emgerT HOUSH W GG WL - (WeoTLIT
28. marked the beginning of census taking in India(GR2AT 17)
(A) The year 1862 (B) The year 1872
(C) The year 1882 (D) The year 1892
OlphHa @BHWTN WESHET QFTNE &l &ML
QSTLMIGIULL &I
(A) 1862-1b au@pL LD (B) 1872-1b au@HLLD
(C) 1882-1h au@pLLD (D) 1892-1h au@®LLD

29. The MRTP Act, 1969 has been repealed and replaced by the competition Act, 2002
with effect from(GR2AT 17)
(A) 2002 (B) 2009 (C) 2013 (D) 2016
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aumeooflLl LI Hemn&HUNew whmiflenn el &l Lid (MRTP Act), 1969 9y6rg)
U658 QEwwlUl@ Gumllgs FLLID 2002-HG Q@&H&HTVEHHNGHS
B L (NeMLUILOSSLILIL LS

(A) 2002 (B) 2009 (C) 2013 (D) 2016

30. The basic objective of Gandhian plan brought out by S.N. Agarwala was(GR2AT
17)
(A) Agricultural development
(B) Growth of cottage and village industries
(C) To achieve equality
(D) To raise the material as well as the cultural level of Indian masses
S.N. 9|&FaIMeT 2 (HaUTER W HTHH W H L L &FH 6T I LiLienL GHITEHS&LNTeTSI
(A) GeuameooTemID GUETTEFF
(B) ®1gem& nmmib Kot Q& midlevssmkigerfler aleT e

(O) FgasHms oL alg)
DeLKewrss @bHWmeller epeld WLMHMID SHeTESTT  Blemevullemeor
2 WGBS

31. The last Deputy Chairman of Planning Commission of India was(GR2AT 17)

(A) Manmohan Singh (B) Narendra Modi

(C) Arun Jaitley (D) Montek Singh Ahluwalia
@B W G L &G Welledr @) miS UITeT S16M600TS &6em6V6el T

(A) DeTGLOME 60T FIMHI (B) mCrB&H T GLomig.

(C) oymevor GegL_6dl (D) ometTGL& Sl 9 svleumediwim

32. The first stage of the strategy related to Intensive Agricultural District Programme
was started in the year(GR2AT 17)
(A) 1951 — 52 (B) 1960 — 61 (C) 1965 — 66 (D) 1990 — 91
el meul L Geuermeoor FHLL D QSTLILTET (NHV LIGBlemev @\H&H 2600T(H
SlIQUBIGLILILL &I
(A) 1951 —52 (B) 1960 — 61 (C) 1965 — 66 (D) 1990 — 91

33. Which of the following statements are correct with regard to Tamil Nadu Pudhu
Vaazhvu Project? (GR2AT 17)
I. It was launched in 2005
IL. It is aided by World Bank
III. The total outlay is Rs.1,667 crores
IV. It is being implemented in 26 districts
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(A) All are correct statement (B) I, 11, III are correct

(C) I1, III, IV are correct (D) I, IT and IV are correct

SOLBTH ATRT ‘L& eumpe]” QSTLIUTET GGl FaMMmsHerflev eremel
Frflwmeremeu?

I. @55 L1h 2005-60 QSTLHEISGLLLL .

II. 2 v QuBIH Q5MHS BHIH 2 &6 aIPBEIGHRMSI.

III. @&mamer HL L QFeve| 1,667 C5ITLY. eHLIMUL.

IV. 510D BITLIg6L 26 mall Liigseflev @S5S LI QFWeLGSSILOSMS.

(A) 9m6TE S FnMMIGEHLD &Il (B) I, II nmouid IIT Fiflwimeotemen

(O II, III inmmuid IV Frflumeremey (D) I, II nmouid IV Fiflwimesteme

34. Whether governor of a state has the power to dissolve the state legislature?
(GR2AT 17)
(A) Yes
(B) No
(C) He/She can only recommend
(D) Only President can
DBV FLLIDETMSMS HeMeVEGLD F&TTLD IDMHI6V 3LEBHIHEG 2 6TeTST?
(A) oplb
(B) @evemev
(©) gjeuy uflBgiemy WLEBGHGWL QFUWIW (LIQU|LD
(D) Blywres semevald L HIG Q&FUIW (LPLgULD

35. In the rules of business of Indian Parliament, if the speaker admits, notice of a
motion but no date is fixed for its introduction — then it is called(GR2AT 17)
(A) Call attention motion
(B) Adjournment motion
(C) No confidence motion
(D) No day — Yet — named motion
BTLTEBETD Semel  eF&Gefledr L FUTHTWST OUINFHEHHT, @@
FILTOTSH MH&ETT AMGEmHmW CHFH GMILILILTIDO Q&meor(H 6U6eumD -
S1UILLY Q& Mevor(h) eUBLD SITOMETSHH MG 6T60T60r GQILIUIT?
(A) seueor FIFLIL SFLOMeoTLD
(B) @@ emauliL] omeotid
(C) pLN&amauleveu SInmeorin
(D) Gamulleveur, QUWF GL LU L SFLnmeorin
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36. Constitutional status to the Panchayat Raj Institutions was initiated based on the
recommendation of(GR2AT 17)
(A) G.V.K. Rao Committee (B) L.M. Singhvi Committee
(C) Ashok Mehta Committee (D) Balwantray Mehta Committee
LEHFTWLSES SemLILEEHHEG ATFWevenlnlil] AHFHNVG Q&THLILSMDE (L6oT
WLWMHR&H6T eTR&HSLILILL G 6THS G Wwelletr Uflbaienguiledr Quulrflev?
(A) G.V.K. gmed @&w (B) LM. 8mell &w
(C) 21GFms CUSSHT GW (D) uevauBsHITUI CLOSHT G

37. Which Article of the Constitution of India conferred special leave petitions power to
the Supreme Court? (GR2AT 17)
(A) Art. 136 (B) Art. 32 (C) Art. 139 (D) Art. 226
ereuld @hH W TR wevenolilier aThs alF 2 55H% WweaTmsHMHES FmLiL
WIS DTN FHGLD HPSTTEHMNS 6ULPMHIGH OTMSI?
(A) e1%) 136 (B) eil® 32 (C) eil® 139 (D) eil&) 226

38. In India, power of Judicial Review is restricted because the(GR2AT 17)
(A) Executive is supreme
(B) Legislature is supreme
(C) Constitution is supreme
(D) Judges are transferable
@B Wmelley BHLILeTTTUIE HBSTTD U TULMEGLLIL L S, 66 6oTet 60
(A) QFweLaIemm 2 _WIFeUTeTSI
(B) L Lglemm 2 Wijeumersl
(C) rF wevemnLIL] 2 WITeUTeTS!
(D) F® LS ST QLIDTNSNGEGS 2L LIL L 6UFSH6IT

39. The Government of India instituted Bharat Ratna and Padma Shri awards
under(GR2AT 17)
(A) Article 14 of the Indian constitution
(B) Article 18 of the Indian constitution
(C) Article 25 of the Indian constitution
(D) Article 32 of the Indian constitution
@B TEFMHEIGD UTTS THeoTT Wwmmih uUsSwf el(ns ssemner
AN@ufletr BLb 2 (HeUMTESH U 6Teng)
(A) @BHW Srfwe FLL NS — 14
(B) @bHw oipFlwev &L aNH —18
(©) @B W SIrfwe L G — 25
(D) @B W SIrfwe s L G — 32
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40. A scheme to provide Support to Training and Employment of Women (STEP) was
launched in the year(GR2AT 17)
(A) 1986 — 87 (B) 1990 — 91 (C) 1995 — 96 (D) 1996 — 97
Quesorgefler LWIME wHmiD CauemevaumlliNmamer 9wsre] (STEP) ererm
LI 9MWasLIUGSSLILL L S,600T(H)
(A) 1986 — 87 (B) 1990 - 91 (C) 1995 — 96 (D) 1996 - 97

41. Prime Minister of India inaugurated India’s longest road bridge on May 26, 2017.
Which states are connected by this bridge? (GR2AT 17)
(A) Assam and Arunachal Pradesh
(B) Assam and Manipur
(C) Assam and Thiripura
(D) Manipur and Thiripura
@pew Ugsngme G 26, 2017-10 BT @BhHWMellCuCW Wasa b Herinmeor
FTemeull UMD HmbS emausSLUULLS. & 6HS GG LOMHlIeVHISHen6T
@) 6060078 &) 60T M B! ?
(A) >y6vermd WMMID S (HevoTTEFVLILNTCH & LD
(B) @6verumid mmMID eooflliL, i
(C) oyeivenvmid wpmih Giflygm
(D) wewofliiLy wooih Slygm

42. In India which organisation’s scientists recently produced electricity from water
without using energy? (GR2AT 17)
(A) NPL, New Delhi (B) IISC, Bengalure
(C) IISER, Kolkata (D) IIT, Chennai
@BHWTelley 61hs emlienLsd Fmihs ellEhepmeflser smHeuUmg Bifledmba
AMMEL  6TFIOD  LUWeTUBSSTIN  WTFMFID 2 (BeUM&HS  (PIQU|D  6Teor

&600T L[5 S 66T T[T 5 61T 2
(A)NPL, 4s QL6060 (B) IISC, QLImbI8se6m5(H
(C) IISER, Q&ML & &S T (D) IIT, Q& erem 601

43. In which place Prime Minister of India inaugurated the country’s first Indian
Institute of Skills (IIS) on Dec. 20, 2016? (GR2AT 17)
(A) Ahmedabad (B) Bengalure
(C) Kanpur (D) Varanashi
IQFOUT 20, 2016-60 LIgsn WHHF BILIQET (WPHETNSITH 6THS @)L S5H60
QBS W e Bloiauarsams (11S) si6use s sTi?
(A) ©15WDHTUTS (B) QumIsHeenH
(C) mmeoTLLy (D) eurryeoor m&
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44. Which one of the organisation organised in Gyan Sangam [Knowledge Summit] in
New Delhi on March, 2017? (GR2AT 17)
(A) Prajna Parvah
(B) Christian Education Society
(C) Students Islamic Movement of India
(D) Democratic Youth Federation of India
L&l 196069Uul60 2017-1D SLeooT(h) LDMFEF LDTSHSH6V 6THS 6L &UITET &FMhigLID
MBI en60T (SMle] 2 & LmBHMT(H) HLESFH UIS?
(A) YyKgeorm LMFeum
(B) ®@njlevgial sevall sLpsLD
(©) @p@w @eveumdlL OMEIOTEUT&H6T @) UISH LD
(D) @b3\ W eTHMTLsS eumedul emnLiL]

45. Which of the following aim comes under Prime Minister Krishan Sai Yojana?

(GR2AT 17)

(A) Environment (B) To increase ground water
(C) Cloth production (D) Free food

Uy whSH il B iflaqert Fmul GUIMReTT S L &5 60T GBTEHELD 6T60T60T?

(A) &OoILD Gy (B) Blevgs1q b G&Fmlayl (h&e
() si600fl 2 LIS (D) @eveus 2 euorey

46. Iron Lady of Manipur, Irom Sharmila got how many votes in the 2017 Manipur
Assembly election? (GR2AT 17)
(A) 10 votes (B) 30 votes
(C) 60 votes (D) 90 votes
neoofliL,fledT @@BLOL] QLevoTLneoof] @GIIMD eqFLdlemm, 2017 WeofILILLT LOMHl6L
FLLLOGTM CHFTSH60160 QILIMM 6UITE & 86T 678 5 60)60T?
(A) 10 uM& G s 6T (B) 30 aums @ &6t
(C) 60 aums@& &H6iT (D) 90 aums@ &6it

47. Which district of Tamilnadu, Chief Minister announced new dental college from the
year 2017? (GR2AT 17)
(A) Chennai (B) Dharmapuri
(C) Virudhunagar (D) Pudukottai
61Hh& WMl LHEHO LUHW L6 W@HSSIeUs Seoaufl 2017-gLlD  2,600T19.60
QsTLRBIS L SAIDLBTEH WNSHVMDESFT 2 55Tl (HI6TeTmF?
(A) Q& 6tTemETT (B) s®wyi]
(©) BaIBsT (D) ysI&C&HTLemL
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48. Which one of the following state government has shifted its financial year from
[April 1 to March 31] to calendar year [January 1 to December 31]? (GR2AT 17)
(A) Kerala (B) Madhya Pradesh
(C) Punjab (D) West Bengal
eTb& R LOMBleV T8 QbS HIG @evoTq 60 BHS! [JLIT6 1 - LOMTE 31] &TeVEToTL I
260074 MG [georeuifl 1 — 9 &FDUF 31] @& WmHmlweTeng?
(A) GasgerT (B) wgsaw Nr8s&1d
(C) uepeTLl (D) Giom @ eumissLD

49. What percentage of total cultivation area in Tamilnadu is rainfed (Manavari)?
(GR2AT 17)
(A) 55% (B) 57% (C) 54% (D) 52%
SUPBTLIE  eTalaleaTe] FHaissHe QmEss Uy Fr@uilgll Urlie
wrmermeumifll uGHuilev LUWIFILUUGS mSI?
(A) 55% (B) 57% (C) 54% (D) 52%

50. Indian Neutrino Observatory is situated in which district of Tamil Nadu? (GR2AT

17)

(A) Madurai (B) Theni (C) Cuddalore (D) Chennai
@bSH W Bl FCeTT LUI6e]&da LD SLAP&ESH 6T 6ThS IDMall L &H60 2 6Tengi?
(A) gy (B) Gz eufl (C) sLaF (D) Q& etrem 60T

51. A supernova is an exploding star. In which years the last two supernova are visible
to the naked eye? (GR2AT 17)
(A) 1600, 1980 (B) 1601, 1982
(C) 1604, 1987 (D) 1605, 1997
G&LIUD GBITUT 6TedTLI& @@ Qeulq elevorLiedr. FM&TIevor LIMTeneudh@& Ll L
&L & @revor(h) GLILT GBITEUT 6Th& 6U(HL M6 6V Q& HEHH?
(A) 1600, 1980 (B) 1601, 1982
(C) 1604, 1987 (D) 1605, 1997

52. Calculate the dimensions of Planck’s constant ‘h’, using the equation E=hy, where E
— energy and y — frequency(GR2AT 17)
(A) MLT (B) ML=T+ (C) ML-T-2 (D) ML-=T~
E=hy eeorm &FueaturlienL uUwearU®SH, WNermms wrmled ‘A er
LIl meoT g 6m &8 &HeoTeH (h&. @mIG E — aLmmev, v — 5 TG e evor
(A) MLT (B) ML2T~ (C) ML-T-2 (D) ML-=T~
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53. Which one of the organic pesticides that contain phosphorous? (GR2AT 17)

(A) DDT (B) BHC (©) 2,4-D (D) Parathion
GECLp 2 6TememaU & 6rflev 618 LIMeLITeN 2 6TeT LL&FF &6 85meved]?
(A) 9.19.19. (DDT) (B) N.et.8. (BHC)
(O) 2, 4-19 (2, 4-D) (D) unymg G wmest

54. Match the following: (GR2AT 17)

(a) Mixed fertilizer - 1. DAP
(b) Complex fertilizer - 2. NPK
(c) Bio fertilizer - 3. Oil cake
(d) Organic nitrogen fertilizer - 4. Algae
QUITHSSI :
(a) &evLIL] 2_JMHIGG6T - 1. 19..67.L9..
(b) A& &:evTe0T 2_FHIS6T - 2. e160r.L9.8 5.
(c) 2 e_prisser - 3. 6T60oTQ 600T U G585
(d) &1fln emBL_TR60T 2_[JMHIS6IT - 4. UTH
@ ® @© @ @
A) 1 2 3 4
(B) 2 1 4 3
© 3 2 1 4
(D) 4 3 2 1
55. In Transmission Electron Microscope (TEM) is used to magnify the
objects. (GR2AT 17)
(A) Light (B) Optical lenses
(C) Electrons (D) Scanner
oar(HHeuey LleTeoremm  HievorGevor & &Hullsy  (TEM) QUIT(HL_GemerT
QuUAlaIILG S LWeaTUGSRMSI.
(A) sperfl (B) @4,L119.560 Q6V60T6NV & 6T

(C) stevssL_gmettsse (Ll eTeoTemon & &G\ F&6T) (D) envGaeros6T

56. The Respiratory quotient value for glucose is(GR2AT 17)

(A)o.5 (B) 1.0 (C) 1.5 (D) 2.0
&GeH&HBHTF T FeUMF T IDGILIL]
(A)o.5 (B)1.0 O 15 (D) 2.0

57. Which one is wrongly matched pair in their characters? (GR2AT 17)

(A) Pancreas - Glucagon

(B) Small intestine - Stomatostatin
(C) Testis - Estrogen

(D) Adrenal gland - Glucocorticoids
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FpE&sHeTL  QUTBSSHIG6TIe  LievorLsefledr  oqliLemLuiley & Seumimeor

QUMBSHSHLDMGLD?

(A) semevor LD - & ©H &85 60T

(B) ®misL6v - rVGL ML GL 6 GLLq.60T
(C) el &L - FerVL_ Gy mQ 83607

(D) oL feorev &Ll - GEB&HCHTHITTIQSHTUIL 6N

58. Which of the following hormone stimulates contraction of uterine smooth muscle?

(GR2AT 17)

(A) Epinephrin (B) Insulin

(C) Oxytocin (D) Glucagon

FELDEHHE0TLUMMIET 6THEH amTTELOMeT H@HLIMUWINET QDG FHeOFHM6TEF & (HEHSH
2 HEHma?

(A) eTIQ B LIS 6T (B) @ eorar60l 6T

(C) o5 CLmT& 6ot (D) & @& &8 meor

59. The cylinder whose base is not in circular form is called(GR2AT 17)

(A) Circular cylinder (B) Right circular cylinder

(C) Oblique cylinder (D) Irregular cylinder

@ 2 (BemeTuleT SQLIUTHID all L aulgellel @ evene) 6Teflel & eTelalmmI
PSS LILIHILD?

(A) Ul L 2_@memer (B) GmJ Ul L 2 _memer

(C) smley 2_memerr (D) pmismm 2_[Hemerr

60. 10 sq.m. is equal to(GR2AT 17)

(A) 100 sq.cm. (B) 1000 sq.cm.
(C) 10000 sq.cm. (D) 100000 sq.cm.
10 152 eTedTLIGI 6THMG &FLOLD?
(A) 100 Q&LS52 (B) 1000 Q&LH2
(C) 10000 Q&FLS2 (D) 100000 Q&L52
61. A is often drawn as a guide, so that a frequency polygon can be drawn
over the top. (GR2AT 17)
(A) Frequency (B) Histogram
(C) Cumulative Frequency (D) Rectangle
1518 LD G161 650T LIGVGE S TEooT LD euem T 62(h UL & ITLIQUITS (6UemTU) @ (HLILIS
(A) ml&sLpQ 6 evoT (B) Bl&LpQ66t0T QF6U6ISLID
(C) ®aley Bl&Lh G 6 6vor (D) @&6uaussLd
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62. If 100 persons can finish a work in 7 days, how many persons can finish the same
work 35 days? (GR2AT 17)
(A) 20 persons (B) 50 persons (C) 30 persons (D) 25 persons
100 QYL ST @@ Geusmevemll 7 BILS&6TleL (PIN&HESHE o il HCH
Geusmevem 35 BITL_&6rflev (1968 676 & emenTL ]l CLIT G emnauLliLi(heu?
(A) 20 QL &6t (B) 50 &y L_s6iT (C) 30 L _sarT (D) 25 @l ss6T

63. What percent of an hour is 36 seconds? (GR2AT 17)

(A) 6% (B) 1% (C) 10% (D) 36%

36 eleormLy. 6TedTLIG 62(IH LD6ooTIWI6L 6THHemenT F&HeNGHID @& LD?

(A) 6% (B) 1% (C)10% (D) 36%
Ym\mAn o n+l oo l+m

64. (%) (%) () = (GR2AT 17)
1

A1 (B) -1 (C) xm+n+l (D)
Yr\mAn o n+l oo l+m

(x_") (F) (x_m) = eeeeccnccccens

(A)1 (B) -1 (C) xmen+! (D) -

65. If A=+, B =+, C=xand D = - then what is the value of % C2B % A % D %0: ?
(GR2AT 17)
(A) 21 (B)1.2 (C) 2.5 (D) 1.6
A GTEOTLISHEMET + 6Te0TeYlD, B eTetTLIGemenT + 6TeoTayln, C 6TaOTLIGH6m6T x 6TeoTeyld D

. . . .1 1 1 1
6T60T LI & 60)60T — 6T60T6Y LD Qasrraonﬂ_rrsug C2B s A s D i ?

(A) 2.1 (B) 1.2 (C) 2.5 (D) 1.6
66. The value of : =1 + ZX¥1_o(GR2AT 17)
x+3 3x+9
(A)3x-1 (B) 3 (x+1) O©)3kx-1) D)3x+2
x3—-1 x2+ x+1 . .
x+3 N 3x+9 oo LD@HLI ?
(A)3x-1 (B) 3 (x+1) ©3(kx-1) (D) 3x+2

67. What is the 85t term of the sequence x, x3/2, x2, x>/, ....? (GR2AT 17)
@Wx= (B)x 2 (C) x43 (D) x#4
x, x3/%, x2, x3/% ... etedT D QSTLT euflenn&uN6or 85-61&1 2 MILIL| 6T60T60T?
@xZ (B) x 2 (C) x4 (D) x#4
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68. The radius and the slant height of a cone are respectively ’ and ‘. What is the
volume of the cone? (GR2AT 17)

(A) % arz VIZ — 12 (B) § nr2 VIZ + 12
O nrrl (D) wr(+r)

R0 FalbLNer QId WMHMID FTWWIWD wWemmGw 7 wmmib ‘I’ erefley FalbLNeor
856073 61T6)| 6T6OT6OT ?

(A) § nr2 V12 — r2 (B) g nr2 VIZ + 12
O nrrl (D) nr(+r)

69. What is the 215t term of the sequence 100, 95, 90, 85......2 (GR2AT 17)

(A) 10 (B) 20 o (D)5
100, 95, 90, 85..... 6TedTM QSMTLF euflensulledr 21-6ugl 2 mILIL| 6TeoTeoT?
(A) 10 (B) 20 ©o (D)5
70. Simplify: ujf:;—(f_@ (GR2AT 17)
(A)x2-9 B)x+3 O x+6 (D)x-6
. 2x*— 162
FHHSGS : [ETSTe
(A)x2-9 B)x+3 C)x+6 (D)x-6

71. Ifthe LCM of x and y is z, what is the H.C.F. of x and y? (GR2AT 17)

(VR (B) ©= (D) xy
X, Yy @eumniledr LS.QILIT.LD. Z 6Tedf16L X, Y 60T LS. GILIIT.6). 6T6oT60T?
W= (B) ©= (D) xy

72. The number of delegates who attended the first session of the Indian National

Congress was (GR2AT 17)

(A) 25 (B) 100 (C) 72 (D) 2000

@QBHW CHAW SMHRGRFI6T (WH Sl ld QFTLIleL Hevbal G &mesorL
LNo& w15 s 6rfleoT 6760076001 8600 5

(A) 25 (B) 100 (C) 72 (D) 2000

73. The revolutionary nationalist Nelakanda Brahmachari was born at(GR2AT 17)

(A) Thirunelveli (B) Madurai (OC) Sirkali (D) Chennai
UL & srwnmer CaFAwealmd) Bevsseoor LNFwwasTil mbs @LLd
(A) B ®BABLG6UI (B) ngiemiy (©) Egaml (D) Q& etrem 60T
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74. Arrange the following in chronological order: (GR2AT 17)

1. Senkuttuvan 2. Emayavaramban

3. Kanaikal Irumporai 4. Kuttuvan Cheral

A)2,1,4,3 (B)4,2,3,1 ©)2,1,3,4 (D) 3,2, 4,1
LY 6BT6U (H6U6TTEUMEMM &5 T6V 6UENT(LNM LIS SIS :

1. Q&FMmG L (H6u6oT 2. @)LOWIGUITLDLI6OT

3. &HENEUUTSHITEL @ (HLOGLITEmM 4. GL(heueT G&FI6L

(A)2,1,4,3 (B)4,2,3,1 (©)2,1,3,4 (D) 3,2,4,1

75. In Chola kingdom the revenue department was called as(GR2AT 17)

(A) Perumtharam (B) Utan Kuttam
(C) Puravuvari (D) Olai Nayagam
G&FMLD BITL_LG6V 6UIHEUTUI SI6MM 6TeU6UTMI J6MLPESHLILIL L SI?
(A) QUEBLLSTFLD (B) 2_L60T Fnl_LLD
(O ugeyeurfl (D) geemev BITWI&LD

76. Where the All India Muslim League was formed in 1906? (GR2AT 17)

(A) Mumbai (B) Uttar Pradesh
(C) Chennai (D) Dhaka

6THIG 3IH eV @BHSH W (WeneSid 658 1906-60 gHLIMSSLILIL L GI?
(A) wibeou (B) 2. 657 NyGsH&Dd
(C) QFeTem 60T (D) Lmsam

77. When ‘Swadeshi day’ was celebrated in India? (GR2AT 17)

(A) 27 May, 1932 (B) 28 May, 1932
(C) 29 May, 1932 (D) 30 May, 1932
TLIQUTWS! “&CsH BT’ @HSH WMellel Q& mevor LML LU L I?
(A) Gn 27,1932 (B) Gn 28, 1932

(C) Gin 29, 1932 (D) Gp 30, 1932

78. Who was the first ruler in the Chola-Chalukya line? (GR2AT 17)

(A) Raja Raja II (B) Vikrama chola

(C) Kulothunga I (D) Adhi Rajendran
GFM - FTEHHR W euSUN6L QUBS (LNFHEV {TEF60T UIMF?

(A) @evoTL_ITLD @) [JTEY [JITEQ60T (B) ell&y1b G&Fmipedt
(O) s GG6uITE iMmIG 60T (D) @& prGBHS TeoT

79. The Vaikam Satyagraha arose in Kerala in the year(GR2AT 17)
(A) 1918 (B) 1924 (C) 1913 (D) 1982
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Gaermailey Mel&HSELD FHHWTHRFHLD HeLQLIMM 2,600T(H)
(A) 1918 (B) 1924 (C) 1913 (D) 1982

80. Periyar incorporated the ideas of the justice party and formed a new party called
(GR2AT 17)
(A) Dravida Kazhagam
(B) Dravida Munnetra Kazhagam
(C) Swantara party
(D) Anna Dravida Munnetra Kazhagam
Quflwmy BH&EHEFUNET &HSSISGHM6T RETMIMETSHS 6THS LS W &L Flemul
S TUSHTT
(A) 8\ gmailL spsb
(B) @ gmailL (pedTGeormm &HLp&sL0
C) #5587 &L
(D) j6vorevorT BymailL (LNeTEETMM HLP&HLD

81. Mercury the smallest planet has only 88 earth days to orbit the sun, because
(GR2AT 17)
(A) Size of the planet
(B) Spinning speed
(C) Distance from the sun
(D) It’s thin atmosphere
He&sfnw Qi Gasmermears Giflwener &Ml ey 88 BHMTL&6T L HIGD
AT GTMSI. 6 Gl6vTent6v
(A) 91560 oerey
(B) &rpsvild Geussld
(O) efwellL @b 2 6Ter STyD
(D) 956 Qnevediw euerflneor_euin

82. Match the disasters with its type and pick the correct answers code: (GR2AT 17)

(a) Blizzards - 1. Hydrological disaster

(b) Tsunamis - 2. Health disaster

(¢) Nuclear accidents - 3. Atmospheric disaster

(d) Pandemic - 4. Anthropogenic disaster

Nesreud CUFILTUMHI&H 06T IS 60T eUemSLTLGLTH QUTHS D) ellemL &Teoorss :
(a) el uwiev - 1. Brflwe Guley

(b) @ IGLITem6V - 2. &H&MSTT GUITL6Y

(c) sysmelLIS S - 3. auerflneoorLev GUT 6y

(d) @amTHMCHTUI - 4. 0L GUITey
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A) 2 1 4 3
(B) 2 3 4 1
© 3 1 2 4
(D) 3 1 4 2

83. Despite the substantial improvement in health conditions of people in India, there
has been certain negative trends due to(GR2AT 17)
I. High incidence of HIV/AIDS in rural areas
II. High incidence of HIV/AIDS in urban areas
III. Growing incidence of Heart diseases and cancer in rural areas
IV. Growing incidence of Heart diseases and cancer in urban areas
(A) All are correct (B) I and II correct
(C) IT and IV correct (D) I, IIT and IV correct
@QBESHW WwEHeflear 2 L6 plemevulley SeoflFnmer  ojeme]  (WeTCeTmHMLD
goul(BeTter  CUTHNID, HFlev  SHTIEUIBGETT  Hinemm  CUTHS
Smeoor ILGSR mSI. GuMmanMlwetmnm&S L9 edT6u (p LI eoTeu () ) 65T Frilwmeor
allemL&eneT GMILLIH 8.
I. HIV/AIDS &yl Lmmkigeflel 9 &Inme 2 6Terg mev
II. HIV/AIDS B&Iymmhigsetlel 9&H&Inme: 2 6Temg ey
III. @&w GBI MM CHeTEFT GIMOLI LiMmMEISG6 60 & &M 2_6TeTS el
IV. @&sWw GBIl (nmmIlh G&eTET BT LILMMBIGET 6 FH&HINMSEH 2_6TeMSTeV
(A) siemetsailD Fiflwmerg) B) I nmmid IT sflwmests
(O) II b IV Fiflwimers) (D) L, III inmouid IV sflumera

84. Which one of the following matches is correct? (GR2AT 17)

(a) Thyroid hormone - 1. Cushing’s disease

(b) Insulin - 2. Myxedema

(c) Corticosteroids - 3. Acromegaly

(d) Growth hormone - 4. Diabetes

FBLDHE0TL. QUSG5 H6V LieuoTL|&6rfl60T 21q LiLiemL_UI6v eTemeu &FiflWImeoTemen?

(a) emvarmii® amTyeLOmeT - 1. GFBIev GBHITUI

(b) @ etrar65 60T - 2. 101G endlig Lo

(c) sryLligGasmevieymull e - 3. &CIMELN& T

(d) sueTy ammIGLOmesT - 4. Brle GBIl
@ Mm @ @

(A) 1 2 3 4

(B) 2 4 3 1

©) 4 2 1 3

(D) 2 4 1 3
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85. Which one of the following changes was not called by the Gandhian model and

growth in the Indian Planning System? (GR2AT 17)

(A) To replace production oriented planning with employment oriented planning

(B) To replace employment oriented planning with the production
oriented planning

(C) Itisin favour of small scale and cottage industries

(D) Itis against large scale industries producing consumer goods

STHEHW wemm LMD eerfERWler Uy @BHW HLdliey wenmuiey,

GG TEooT LIQUMMIGT 6ThS LOMMHMLD GHITILILL66V6m6eV?

(A) 2.musH ermins HLLIOLEGL LUFHeTs, Galemey GhTehameT S L OL6v

(B) Gauemev GmmMs&EMer HLLWLVGEG UHems: 2. MHUSH GBisHSmer
M) [I))

(C©) AW LOHOID GYNFSH QFTLHVHRISGEHEHGTF FMSHoL0TETS

(D) msFeum@meT 2 MUSSH Qaulwb Ul QsTEeV&HBISEHE G 6T [ TeTSl.

86. The word ‘Secularism’ was inserted in the preamble of the constitution after
supreme court of India observed ‘Secularism’ was a basic feature of constitution
in(GR2AT 17)

(A) 1975 (B) 1973 (C) 1976 (D) 1981

‘Deg Fnillerenin’ 66Tm UTIHMS, STFWevendlil] FLLESH 6T oL
afluflev @emenTE:&LILILL MG (WeiTerTCy 2 5&F HHIneTmId ‘(0 FmiLierTenin’
AT WevemlILF FLLEHT QLML SaMGEHeflel eeTml 6rerm  Fanlul
Sh6001(B) 6TSI?

(A) 1975 (B) 1973 (C) 1976 (D) 1981

87. The special status provided to Jammu and Kashmir under Art. 370 limits
parliament to enact laws relating to(GR2AT 17)
(A) List-I and List-III of the Seventh Schedule
(B) List-I only of the Seventh Schedule
(C) List-II only of the Seventh Schedule
(D) List-I, II & III of the Seventh Schedule
@brHW  SrFweenolil] FLLSGHeT 370 UL QW WO STeqldy
DTElVESH MG AL 3 HG VS Q&EMH&S&LILIL (6T Blemevuilev
BTLTEHETMID QW WwHmID &TeqlsST Wrplev QSTLILeL W FL L BI&H6T
Quihmieug!
(A) ulguwev I nmmiid I (gLpmeugl oL L6)6m600T)
(B) uLligwev I (gLpmeug i Leuemenor) WL (HILD
(CO) uLwev IT (gLpmeus oL Leauemeor) DL (HILD
(D) uliguiev I, IT inmmuid I (gFLpmeugl iU L6)60)600T)
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88. The ideals of liberty, equality and fraternity enshrined in the preamble of the
Constitution of India were adopted under inspiration from the(GR2AT 17)
(A) American Declaration of Independence
(B) French Revolution
(C) Russian Revolution
(D) UN Charter
&HSHH T, FGSED, FCHEMHIHIIGIN 661N Q&HTTM&EEHT  @)hS W
ATFRWevemLILN6T  Wp&EemTUIly  LjedflSHLInmeTenellnss  gmaLILLLemnINE G
ST (H SIS QBHSS! 6TS1?
(A) 910w l&s allhgameull LNgsLeorid
(B) WaogeraL1 yyLle
(C) pequis L&
(D) o.16m. &ME 60T

89. Which one of the following is not correct related to the distinctions between the
grants under Article 275 and Article 282 of the Constitution of India? (GR2AT 17)
(A) The grants-in-aid under Article 275 are statutory whereas under Article 282
they are discretionary

(B) Under Article 282, the union has the power to provide grants-in-aid even for
no —plan expenditure

(C) Under Article 275, the union has the right to give grants in accordance with the
decision taken on the basis of recommendation of Finance Commission

(D) Allocation of Grants under Article 282 is based on recommendation
of Cabinet Committee

L etTeu(peustToUMMIET 6Th& 6ReTm @BHW rfwevenolil] FLL al&Hser 275

HMIh  282-67 G  @PRBISLUGILD  WTEllWUBISHERHES @6 Gulwlmeor

CauMILMTO&ET QSTLIUMS FIUITET 660TMI 3{6V6V?

(A) & 275607 B, aupmEISLILGLW Wwreflw 2 el FULliugumearg. a8 282-
&7 Sp auprmisLiLBeugs eliflliyfleniow mers.

(B) e 282-¢r GLp, WSHUW THFEG T LD FMTIT QF6THISHEHS G
omeofll 2 56 QIS HFHHTTLD 2 6TeTsl.

(C) & 275671 ELp, BIS emevoTwSH 6T LiflESienguilesr GuUflev eT(M&HSHLILIL L
W19.6,56l60T 319 L1LIem U6V LDMeoflLLIMGI&HEM6T 6ULDMHIGHEVTLD.

(D) aN® 282-657 HLp, SemnFFIemal Gweller LflbaienguileT oq el ullsin
LD T6of 1 U MBI &5 606 ULDMBIGH6VITLD.
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90. Match List I with List IT and select the correct answer using the code given below:

(GR2AT 17)

List I List IT

(a) P.A. Sangma - 1. Telugu Desam party
(b) G.M.C. Balayogi - 2. CPI (m)

(¢) Manohar Joshi - 3. Shiv Sena

(d) Somnath Chatterjee - 4. Congress-I

uliguiev I o Ler uligwey II- QUIBSSH), ULIQU&HEH&HEG HCL 2 6Ter
QasM& LU MBS siflwmer allenL_uwileners Qe Q&uls.

ULrguiev I UL gwev IT
(a) P.A. griom - 1. OFNGIG CHFLD LG
(b) G.M.C. umeuGwIme - 2. §.19.83. (Lom)
(c) nGeormar Cmad - 3. FleuGFeorm
(d) GembEMs L L - 4. smmg e (I)
@ ® @© @ @
A) 2 3 4 1
(B) 4 1 3 2
© 2 4 3 1
(D) 4 3 1 2
91. Kaviko Arakkattalai Award given to during the year 2017. (GR2AT 17)
(A) Poet Muthulingam (B) Poet Vairamuthu
(C) Poet Vali (D) Poet Vijay
FHNHCHT SM&EELLeneTulletr alleCaHT ell(h& 2017940 34,6007 (H
QUPMBIGLILILL &I,
(A) selleT WS &IedimisD (B) sel@ ) eneuws s
(C) el aumed (D) sall@ep el

92. What percentage of downtrodden students enrolment in private schools as per
Right to Education Act? (GR2AT 17)
(A) 25 (B) 26 (C) 27 (D) 28
Sl Lmw sevell 2 flenln FLLGH 6T ELD 6THHem60T F&H685 HedleuemLbg Liiflemeus
FMibHS &LPHNSSH6T Seoflwmy LeTerlgerflev GFF&oLILIL Galevor(hLd
(A) 25 (B) 26 (C) 27 (D) 28

93. Find out the total votes of the electoral college for the Indian Presidential Election,
2017. (GR2AT 17)
(A) 11,00,346 votes (B) 11,04,546 votes
(C) 12,06,232 votes (D) 13,00,346 votes
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QBEHW QaTTHUFH GCHIHeV, 2017-H&HM6T CHIHL SHTWIET QLTSS
QUITE G SEM6T &5600T(HILINLG..

(A) 11,00,346 aUM& G &H6iT (B) 11,04,546 aum&: G 56T

(C) 12,06,232 aUM& G & 6T (D) 13,00,346 auM&: @& 6T

94. Which one of the following is the objective of perspective plan 2023? (GR2AT 17)
(A) Create Employment Opportunity
(B) Digital Technology
(C) Award
(D) Reward
BeooTL &ML HILLID 2023-60 HLP&HOTLemaUGET6L 618 (WEHEHW GHTHSHIOTS
&BHSULOSHDEI?
(A) GausmeuauMUILIEnLI 2 (56T EH S 60
(B) etevoring QB mLSleLEHIL LI
(©) elwa
(D) FetrLnmeoTLD

95. Which of the following objectives regarding Skills India Mission is incorrect?

(GR2AT 17)

(A) Its objective is to achieve skilling of the youth across the country.

(B) Its aim is to remove financial constraints in accessing skill training
programmes.

(C) Under the mission, loans from Rs. 50,000 to 1.5 lakh will be
available to more than 34 lakh Youth of India.

(D) The tagline of this mission is Kaushal Bharat.

QEMh&&LIULB6TaTamalsafley  Hmer @BHWT  HLLESHT  Seummeor

S &CHTET eT&I?

(A) BTG WWeuGIlD 2 6Tem @ eneaTEpigetler Hmener CLIDLIMSHC @5 60T
SN HCS&HMETMEGLD.

(B) @merr LWIHE HLLSH 6T epeuld BIFH QHTLILTET Sl GHeneT HoHEGeaug!
@ 6T &MIHECSTETTELD.

(C©) @p@wmelley 34 ULFLD E@M6TEHIHEHSHEG €H. 50,000 (NHV 1.5 ULFLD
QULDTEIG6U S )& 60T LI6uot|WIMELD.

(D) smegqev LIMTS 6TedTLISI ST @) & 60T (PLP&HSLDMGLD.

96. Which country physicists created a new form of Hydrogen? (Negatively charged
hydrogen cluster) (GR2AT 17)
(A) India (B) Austria (C) Australia (D) China
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emamL_FRefler LH W SjemloliL] (TR Fwenm LOl6Tenm L 1D Q& TeooTL. 60eu)L_[J8365T
QEMTG&LIL) 6ThS BITL(H @WmLIW 6L HMIEHISH6TTeL 2 (HeumdhsLILL L &I?
(A) @BewIm (B) syev&fllm (C) apesv&®Cgedwm (D) Eeorm

97. Rajiv Gandhi School of Intellectual Property Rights Law is located in _
(city) of state. (GR2AT 17)
(A) Chennai — Tamil Nadu
(B) Ujaini — Madhya Pradesh
(C) Cochin — Kerala
(D) Khargpur — West Bengal
gngded &MHSH AMleysny QFmss 2 flevn  FLLlueTefl  SiemlnbSi6Ters
B&0f160 LDMTBlevVSF)6v.
(A) Qsaremet — SLALD BTH
(B) 2 g3emggenfl — 0SS W LN7ECHe0
(C) Q&meEFR 6T — Goy6rTT
(D) syl — CLME GUMISITETLD

98. Which one of the following is not correctly matched? (GR2AT 17)
(A) Varishtha Pension Bima Yojana - Social security for old age
(B) Pravasi Karshal Vikas Yojana - Seeking employment in abroad
(C) PM Fasal Bima Yojana - Insurance coverage to farmers
(D) PM Gram Sadak Yojana - Empowerment of rural women
QEMH&HLILLLemeusertley eTh spedTml &Fiflumss QUUITIHH S MTHI?
(A) aurrifleusm QLIETEF 60T LTDM GUIM60TT - U W G TeoTed F86rfl 60T &Felnds LIMSIGSTLIL

(B) UIgCaud smarev algmen GuImegeoTT - QeuerflBITL 1960 GeuemeuaTUlILIL]
CaOeuUsH&

(C) PM umgev Lfinm Guimegeorim - leusmuilseT sriyflenio S LD

(D) PM @\gmin L& GUImegeorm -SIToLMm GLIETS6T (LN6edTGeTMHMLD

99. When BSE’s sensex has reached its maximum 30,000 — mark for the first time in
the history? (GR2AT 17)
(A) 26 December 2016 (B) 26 January 2017
(C) 26 April 2017 (D) 26 May 2017
BSE’s aufg &8 Leterfl 30,000 - L6Tefl&H6T eTedim auFeummm 2 WF&Hems (L& eor
W&66L 6TIHS HITerlev 6T 19 UIgI?
(A) 26 19 &OUF 2016 (B) 26 6tauifl 2017
(C) 26 grLayev 2017 (D) 26 Gin 2017
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100.The Indian Space Research Organisation (ISRO) successfully tested indigenously
developed cryogenic engine on(GR2AT 17)
(A) January 25, 2017 (B) January 30, 2017
(C) April 1, 2017 (D) March 30, 2017
@pHWw aleorQeuefl rmilFs mloeuerid (ISRO), wweuglldh @nhSH wmeley
2 BUMSSLILULL HeogCumeails ehHHISHmME QaumM&ETnTs:  C&msemeor

Q&FUIG BIT6T
(A) 260t0uM 25, 2017 (B) 2em6u1f1 30, 2017
(O) gLigev 1, 2017 (D) iorryE 30, 2017

*0000
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